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CSE 4307: Database Management Systems
Pl:obIe calculators an not allowed. Do not write anything on the question paper.

Answel all 3 (three) questions. FiWres in the right margin indicate full marks of questions whereas
corresponding CO and PO are written within parentheses.

1' a) “Cartesian Product is a superset of Natural Join.” - Justi® with suitable example. 5
(COI)
(POI)

5
(COI)
(POI)

5
(COI)
(POI)

b) What is the basic purpose of providing “data abstraction” in Database Management System?
There are broadly 3 levels of abstraction. Briefly describe them. “ '

c) Diaerentiate between “table” and “view”
view.

Mention two important purposes of creating a

2' Consldering the requirements of the 3 relational tables as shown in Table 1, 2 and 3)

Table 1: Information about Department table for Question 2.

Attribute Meaning and Requirement
DID
Dept Name
Establishment Year

Primary key
can not be empty
Exactly 4 di©ts with no decimal part

Table 2: Information about Employees table for Question 2.

Attribute Meaning and Requirement
EID
Name
DOB
Dept
Blood Group
Salary
ManagerID

PnmarY keYl it is exactly a 6-digit number without any decimal part
20 characters long irrespective of language
Date of Birth, must not be emI)tv

Fore@ Key referencing Department and it can not be empty
Must be any one from A+ Ap B+IB_IAB+)AB_
MonthIY salary, must be greater than 5000
ID of his immediate reporting boss in the office,and he must be one of the
existing employees

Tkble 3: Information about Salary table for Question 2.

Attribute Meaning and Requirement

EmpID
PDate
Amount

Foreign key referencing Employees
Payment Date
Amount paid
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b) Write the SQL to answer the following queries:

i. Find out the name9 date of birth and name of the department of all employees who
joined in the last 2 months (i.e. 60 daYS).

ii. Generate list containing department name and its total emploYees but include the de-

partment with at least 20 employees.

iii. List the employees name)YearIY salarY and name of their emploYer-

iv• f::IEt i: :: TE[S; f:::ean:/in=;: 1is:: iTILb ::1l11:Li :: l==:: : 1:HSE :Peer tiEr; aT):

v. List 2 departments with the highest and the lowest nurnber of emploYees'

c) Consider there exists two relations Rl and R2. Mention the two conditic:ns muIBe me! m
’ order to execute UN 1 ON operation. Is it possible to get inconsistent records even if these two

conditions are satisfied? Justi® your position using example data

10
(COI)

(POI)

3 Consider the following high-level description of a sales companY:

ABC is a large company that sells diaerent electronic items, such as: Laptopl Smart fhone' SmP
Gilch ett...' Each it;m has its name! a short description, and unit price. The countrY has a number

1lumber of departments, such as sales, accounts, admin. Each emploYEe !npt be ?ttache! to
a speciRc d;partment. Only customers who are pre-registered with basic in{qrmationlsuch.as

;oa:n:= 1:: :: :FauslT::tr;b =: aId iS : : TrF g !!::::: :e: ef:: T==tIEis : ]:: iFrSi=n= Ii:I:
durationp items must be returned.

Based on the scenario, answer the following questlons:

a) Draw the Entity-Relationship Diagram (ER-D) using the standald notations and SWboIs
15

(C02)
(P03)

15

(C02)
(P03)

b) Implement the ER_D from Question 3.a) using standard SQL'
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